Use of English ¢ Part 3

For questions 25 — 34, read the text below. Use the word given in capitals at the end of some of the
lines to form a word that fits in the gap in the same line. There is an example at the beginning (0).

Write your answers IN CAPITAL LETTERS on the separate answer sheet.

Example:@COMF’ETIT[ON

Skyscraper? No, ‘water-scraper’!

Each year, EV Magazine hosts a skyscraper design (0).......... . Most
entrants imagine giant buildings taller than anything under construction
today. However, the most (25) .......... entry this year went the opposite
route. Malaysian designer Sarly Adre bin Sarkum’s (26) .......... to the
problem of conceiving a different kind of development was to drop his
building straight downwards into the sea. He deliberately designed it to
contrast with the skyscrapers that make up most of the entries, and to

highlight sustainable (27) .......... .

His self-sufficient ‘water-scraper’ would be similar in (28) .......... to the
Empire State Building, but with only a couple of storeys above the sea's
surface. Wind, solar, and wave power would provide energy and a green
space containing forests and (29) .......... areas at the top would provide
food and oxygen. Living and work areas would be below the sea’s surface.
The structure would be kept level by giant tentacles. The tentacles would

also generate electricity through ocean (30) .......... ;

No-one is building anything like this now but it is (31) .......... to be certain
of what our future (32) .......... needs will be. Land will become scarcer as
population (33) .......... accelerates and, since approximately 70% of the

Earth’s surface is ocean, cities in the sea may one day be a (34) .......... .
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